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Q.1 From the following balance sheets of Shiven Ltd, prepare Fund Flow [20]
Statement with necessary Statements and Accounts.

Liabilities 31-3-13 | 31-3-14 Assets 31-3-13 | 31-3-14
Rs. Rs. Rs. Rs.

Equity Share Capital 300000 | 400000 | Goodwill 115000 90000

8% Pref. Share Capital 150000 | 100000 | Land & Building | 200000 | 170000

General Reserve 40000 | 70000 | Machineries 80000 | 200000

Profit & Loss A/c 30000 | 48000 | Debtors 160000 | 200000

Proposed Dividend 42000 | 50000 | Stock 77000 | 109000

Creditors 55000 | 83000 | Bills Receivable 20000 30000
Bills Payable 20000 | 16000 | Cash & Bank

Provision for Tax 40000 | 50000 | Balance 25000 18000

677000 | 817000 677000 | 817000

Additional information:
(1) During the year 2013-14 depreciation has charged Rs.30000 on
Land & Building and Rs.25000 on Machineries.
(2) Interim dividend paid Rs.20000 during the year.
(3) Tax paid during the year was Rs.30000.
OR
QA1
(A) What is "Fund" with reference to Fund Flow Statement? List five [10]
major items of Application and Sources of Fund.
(B) Explain utilities of Cash Fiow Statement and give difference between [10]
"Fund Flow Statement" and "Cash Flow Statement".

Q.2 Prepare Cash Budget for three months ending on 31% March, 2014 [20]
of S. P. Co. Ltd. from the following information.
Cash on hand on 1st January, 2014 Rs.16000.

Month Total Total Wages | Factory | Administrative
Sales Purchases Rs. Exp. Exp.
Rs. Rs Rs. Rs.
Nov - 2013 240000 140000 56000 | 24000 30000
Dec.-2013 200000 120000 64000 | 22000 32000
Jan. - 2014 320000 160000 72000 | 26000 34000
Feb. - 2014 400000 200000 68000 | 30000 35000
March - 2014 | 360000 180000 76000 | 32000 38000

Additional information:

(1) Assume 40% of total sales in cash sale.

(2) 50% of credit sale are realised in next month of the sales made and
the rest in the next month following.

(3) The period of credit allowed by suppliers is one month.

(4) 10% of total purchases are cash purchases.



(5) Lag of time in payment: Wages 1/4 month, Factory Exp. 1/2 month
and Administrative Exp. one month.

(6) In February, 2014 Company purchased Machine of Rs.80000 by
instalment system. Rs.20000 is payable on signing the agreement
and remaining is to be paid in four quarterly instalments.

(7) In March, 2014 Rs.6000 interest on Debenture is to be paid.

(8) Rent Rs.1000 is to be paid every month.

(9) Income Tax Rs.15000 paid in March, 2014.

OR
Q.2 XYZ Ltd. works at 60% production capacity and data relates to that [20]
are as follow:
Production 900 units
Direct Material Cost Rs.100
Direct Wages Rs.40

Other Direct Exps. Rs.10

Factory Overheads Rs.90000 (50% Fixed)

Administrative OH Rs.72000 (100% Fixed)

Selling & Distribution OH Rs.72000 (50% Fixed)

Sales Price Per Units Rs.450

Prepare flexible budge at 60%, 80% and 100% Production Capacity
showing total and per unit cost and profit at each level.

Q.3 Nisarg Ltd. provides following information: [20]
Production and Sales units 60000
Total Fixed Cost Rs.200000
Total Variable Cost Rs.300000
Total Sales Rs.600000
Calculate:
(1) Profit Volume ratio
(2) Contribution per unit
(3) Break even point (Units & Rupees)
(4) Margin of Safety
(5) Required sales to earn profit Rs.20000 (Units and Rupees)
(6) Profit at sales of Rs.750000
(7) New sales price to bring down break even point up to 36000 units.
(8) Margin of safety at profit of Rs.120000.
OR

(A) Information of a Company are as follows: [10]
Fixed Expenses Rs.4000
Break even point Rs.10000
Find out:
(1) P.V.Ratio
(2) Profit when sales is Rs.20000
(3) New break even point if sales price is reduced by 20%.
(B) Explain meaning of Break even point and discuss its uses and [05]
limitations.
(C) Write note on "Key Factor". [05]



Q.4

Q4
(A)

(B)
Q.5

Q.5
(A)

What is Management Accountancy? Explain difference between [20]
Financial Accounting and Management Accounting.

OR
Information of PQR Ltd. are as follows: [10]
Standard Actual
Raw Quantity Price Quantity Price
Material Kg. Rs. Kg. Rs.
A 120 12 140 11
B 180 15 210 16
300 350

Find out:
(1) Material Cost Variance
(2) Material Price Variance
(3) Material Usage Variance
Write short note on Limitations of Management Accountancy. [10]

The Management of a Factory is considering the question of [20]
dropping an un-profitable line 'Z'. Tender your advice:
Following are the data:

Products
Particulars X Y Z
Rs. Rs. Rs.
Sales 1400000 1100000 300000

Direct Materials 390000 415000 95000
Direct Labour 180000 170000 60000
Variable Exps. 220000 170000 40000
Fixed Exps. 425000 260000 120000
Profit (Loss) 185000 85000 (15000)

In the event of discontinuance of production of 'Z', certain supervision
staff for that product could be discharged, their salary etc. would be
Rs.25000, which is included in fixed cost.

The management on consideration proposes to drop 'Z', retain
their supervision staff and increase production of 'X' by
40000 units, sales price of 'X' is Rs.7 per unit. Give your advice.

OR
[20]
Explain meaning of "Differential Cost" with illustration and give the
difference between Differential Cost and Marginal Cost.
Explain factors affecting to "Make" or "Buy" Decision.
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